Proste rownania kwadratowe

Réwnanie |l stopnia — rownanie kwadratowe ma dwa rozwigzania

Najtatwiejsze: x*=a rozwigzanie x;=+/a lub x, =-+va

Przyktad: x2 = 16 rozwigzanie: x; =v16=4Ilubx,=-V16=-4

Przykiad: 3x* = 75 rozwigzanie: 3x*=75 /:3
x?2=25 x,=v25=5Iub x,=-v25=-5
Przyktad: 10+ x* =11 rozwigzanie: x* =11 - 10
=1 i=v1=1lub x==T=41
Przyktad: 3-(x*+1)-20=10 rozwigzanie: 3x*+3 -20=10
3x2 =20-3+10
3t =27 13
x*=9

% =vV9=3lub % ==y9=-3

Zadanie
Rozwigz réwnania:
x?* =81 rozwigzanie: Xx; = v = lub Xy = - =
5x? = 500 rozwigzanie: 5x* =500 /:
X2 = Xy =4 = lub Byl =

x? + 36 =100 rozwigzanie: x? =100 —

X2 = ;= = lubxg=<y =
4(x*-2)-15=13 rozwigzanie: 4 x* - -156=13

4x* =13+8+

4 x%= I

xX? =
Xy =v = ub xz= -+ =
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